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Term End Examination, June 2014 

Maximum Marks: 100 	 Time: 3 hours  
Note: Km are required to answer two questions from Section A and jive que.slions Iron? Section B. 

Section A 

Answer any two questions from this section. 	 2 x 20 = 40 

1. 
	

Why would you prefer a model or endogenous growth? Explain the leatures of a 

sr. lccicd '. -;(..logenous growth model and its pr,,...lHlions 

2. What is the approach of Rosenstein-Rod on the existence of multiple equilibrium in 

the case of coordination failure? Suggest your approach to overcome the coordination 

failure in development. 

3. What do you mean by frod security? (.7ritic,Ily examine 	 .::1-iteron in 

the context of food security policy in India 

4. Describe the decomposition of poverty and incqualhy. Which index would you like to 

use for decomposing poverty and inequality in Indian scaurio? Give rayons in 

support of your answer. 

Section B 

Answer any five questions from this section. 	 5x12 = 60 

5. Assess the issue of sustainable development in the Indian economy. 

6. What are the Millennium Development Goals? Critically evaluate India's performance 

in this regard. 
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7. 	What are the major steps in carrying out cost-benefit analysis'? Explain with a suitable 

Discuss the reJIional income inequality and economic 	(ilk My Um) account the 

experiencc of Indian economy. 

\A/1.i tc short notes on 

(a) I Inman Development Index (I11)1) 

(b) Jobless growth experience or India 

10. 	Analyzethe ef..111eicito impact or rorcign direct investment on the Indian economy. 

I I. 	What is joint litres( management'? Discuss its progress in India. 
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